BIC
10°

log[ Relative Probability ]

-300

Window Half—Width (km/s)

107

10°

—-100 0

—200

10*

1000

2/(408089 —~5418)=0.987
— T T T T T

BIC 467412 53 ABIC 712 312 AIogP 154. 6767
x 397416.09 AX —763.969 AlogP 165.8937

[ ABICNE327 £~ 30162~ ‘“\—9———————1'832———————"3'2
L Ax? —3278694 —31324 —-3369 1 X
- 5209 | 5209 ! 5299 5418 .
A ACs ACSF | | ACSBF |
50 100 150 200 250 300 350
350 iterations
rm635 2/(408089 5418) -0.987
—— "~ ~ 1 > T T T 1T T v T T T T T T T
L : : : BIC 467412 53 ABIC 712 312 AIogP 154. 6767 J
Lo oo R x. 397416.09 .Ax. —763.969 AlogP 1 65.8937.]
5209 " °5209° 7 " " 5299 " ot T oCoun et oottt s 541 """t n T ]
[ A . ACy | ACgF ||H‘ |H AC B F o]
N S SR I | I| . |'..i.in||Iimimi||=I|||||I|III|I|||I|III|I|'|I|III|I|||I|III|I|||||||'
50 100 150 250 300 350
350 iterations
Fe2 51% 1036+475 km/s
rme35 BLR 10830 NLR 900 km/s

' ' '
e I T N I T e i I R e Y L N e T e e BLR

350 iterations

kdh1 11-0ct-2021 17:58



